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Read the following instructions carefully before you begin to answer (he questions.

This Booklet contains questions in Eoglish as well as in Hindi La nguage,
ma‘ikmtﬂ#%ﬁ:ﬁ?ﬁﬂzﬁhﬁdm#w#l .
T e A v il e A s of R

Before you start fo answer the cinestions you must check

p this Booklet and ensure that it contains all the pages

(1-16) and see that no page is missing or repeated. If you

AT F IS & F 959 T 39 9
7 4w & B sl gy (1416
FAH AT g A AET 3w T [

a5

0.

8

1

1

1

You will be supplied the Atiswer-Sheet separs
Invigilator. “Yoéu must completc and code the
Narme, -Roll Number, Ticket. Number and Te:
Nurmber on the Answer-Sheet carefully. You must als put

, Your Signature and Lefi-Hand thumb impression on the

i Answer-Sheet at the prescribed place before you actually
start answering the questions. These instructions must be

l folly complicd with, failing which, your Answer-Sheet will
not be €valuated and you will be awar ded ‘ZERO’ mark.
Answers_must be shown by completely blackening the

comesponding circles on the Answer-Shest against the

elevant question number by Black/Blue Ball Point Pen

swers which are not shown by Black/Blue Ball-
0V ¢ awarded 2ny mark.

the eoded information in the OMR

t In case the information is incomplete or

“from the information given in the application

heandidae will be awarded *ZERO’ mark.

ver-Sheet must be handed over to the Invigilator
before you lcave the Examination-Hall,

- Failure to comply with any of the above instructions
will render a candidate liable to such action / penalty as
may be deemed fit.

0. The manner in which the different questions are 1o be
answered has been explained at the back of this Booklet,
(Page No. 16), which you should read carefully before
actually answering the questions.

1. Answer the questions as quickly and as carefully as you
can. Seme questiogs may be difficult and others casy. Do
not spend too much time on any question.

2. No rough work is to be done on the Answer-Sheet.
SPACE FOR ROUGH WORK has been provided at
the back of this BookleL i

3. “Mobile phones and wireless cammunication devices are
completely  banned in the exomination halls/rooms,
Candidates are advised nei fo keep mobile phones/any,
otlier wireless communication devices with them even
switched it off, in their ewn interest. Failing to cmr};!y
with this provision will be considered as using unfair
means in the examination and action will be taken against
them including cancellation of their candidarrce.”

find any defect in this Booklet, you must get it replaced | 3 %1§ I o, @
‘immediately. e Al ' 1 .
' ... . INSTRUCTIONSTO CANDIDATES | R & Ry

1. This Boﬁkla contains 100 questions. - 100 Wast £

2. In-questions set bilingually in English and Hindi language, 5L HIR T 33T e e geal
in case of discrepancy, the English version will prevail, 4 y & & oty 3 3isr P

3. Al questions arc_mmﬁpulsoryan%cam{dqj?fmarks. ; b B -

4. The paper. carries negative marking. 0.50 marksg A e § U wed aey s . -

. deducted for each wrong answer. ; T 93 F AHICHE 3 W BT T 3ot &

ool 9% HEAT & Ani
T WA AR @ ) S A 2

& T F F W b, gl W el @ e i
Elgt
%—ﬁamﬂ TEd iR @ seav-atia

HE nA-gas & 9 Ry aar
Ferher ] e b sty
FoE & e ¢ P S Sl
e & s @9 o T 3@ #
I &1 AT 7w &t gher 7 safe 39l
FT v HiAl T fve wrfard #) smeh,
i i &7 a4 akar
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1. n aschool there were 1554 students and the ratio of
the number of the boys and girls was 4 : 3. Afier
few days, 30 girls joined the school but few boys

left; as a result the ratio of the boys and girls |~

became 7 :
school is

6. The number of boys who left the

o Regea A 1554 faegredf & v aswr v |

wrsfa & wear 1 3 4 : 3 an Fo Rt o
30 wsfEal @ 3w e A vy A o, Fw
a6 A Rggea oz R, aRumresy agat
I el & egand 7 ¢ 6 @ e faeare

5 A gt i Tz fra 82
) 86 (B) 76
© 74 () 84

2. lfA B 2: 3andE L 3 ?lhenA+B B+C;

C+Ais

‘AfEAB=2: 3311:43 c= 3 VAAGE l+c‘:"

C+AFNEIM . =

N ouser AL By
(AY4:10:9 A

’,jBrS.w.q *‘;_‘\,;'r

(C)S5:8:9 (D)4:8:9

* 3. If a hemisphere is melted and four spheres of equal

volume are made, the radius of each sphere will be
equal 10

A v AT F TR THE NS & O

A T A, a T e 9 BT ek
“at gl
=t : .
_AAY714™ of the radius of the hemisphere / 7iverel &
e & 14 ;
(B) 142 of the radius of the hemisphere / Tiaret £
Bsare 1 -
(C) radius of the hemisphcref?ﬁ'éiﬁi 1 Bar
(M) Hﬁ"ofﬂwraﬂ:usofuwh&msphewhﬁ?ﬂt‘riﬁ
Rsarar1/6

4. A and B have their monthly incomes in the ratio B : 3,
while their monthly expenditures are in the ratio 5 : 3.

L] -

.

2

If they have saved ¥12,000 and f-lﬂ.ﬁﬁﬂ -monthly
respectively, then the difference in their monthly
incomes is

A MR B i AAF A 8 : 5 F Hegona ¥ § oafe
A A o4 5 0 3 & g A ¥ afy s
FaTer: 112,000 317 210,000 i wffdes a=a Hrgy, ar
I ATy 3 i e e &2

(A) 44,000 (B) T42,00Q

(C) 52,000 (D) 346,000

5.0 (F —y*) (P +xy+y)=5:1 and -y (x
—y)=7:1, then the ratio 2x : 3y equals
R (F -y Pty + ) =50l M-y
-y =721 a‘rmaz_v By Rewrar agac 7
(A)2:3 ®)4:3

[C}4 A (1’)]-3:2

6. The marked price of a tape recorder is 12,600, A

** festival discount of 5% is allowed on. it. Further for
"~ cash payment, a second discount of 2% is given. The
cash payment, in rupees, is to be made for buying it is

e 2 RS i 3 1T 212,600 &) 36 W%
& @ter e alowh 81w sfRe
AR T W, 2% 61 gl ge & sl g
e & AT fhdat % HIaeT TUF 7 S
qen?

(A) 11,730.60 (B) 11,370.60

(€) 11,703.60 (D) 11,073.60

7. Anticles are marked at a price which gives a profit of
25%. After allowing a certain discount the profit
reduces to 12% %. The discount percent is

Tt @1 e g wen iféa R iian & s
"25% @1 F BT &N & WG W Tea 12% % B

ST | e iceicar Bt &7 W
[ . —~
(A) 12%% (B) 12% e

(D) 11.1%

((C)/m%

8. Iftan g —cot 0 = 0 and @ is positive-acute angle, then

; g
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tan (8+15°)
:he valtue of E(—e_—ls—n):s

AT tan @ ~ cot § = 0, 3T 0 UAHE 7g 0T &, Y

tan (8 +15°) .
iy ®) 1
3
) 1 D) f3 .
B

- A number when divided by 361 gives a remainder 47.

If the same number is divided by 19, the remainder
obtained is

el wew @ afy 361 ¥ Renfea fear s, G
A 47 Tl &1 A R w19 F Rsnisa
(A) § B3

©O1

10. Tn an examination average marks obtained by the |

girls of a class is 85 andthe average marks ‘htained
by the boys of the same class is 87. If the girls and
boys are in the ratio 4 - 5, avprage marks of the
whole class (approx.) is closest «

U el & ersfanal &1 afer % et 5 aflea
85 & 3T 3¢l et oF et & unaient &7 3iaa 87
61 ule wefaai oy Te% 45 bamaa FE
9 w11 Sl i (repa) Rae 82

(A) 86.4 (B) 86.5

(859 ) 86.1 4

11, Water tax is increased by 20% but its consumption is
decreased by 20%. Then the increase or decrease in
the expenditure of the money is

a?ﬁﬁlﬂ%ﬁﬁ'g%ﬂﬁﬁﬁﬁﬂﬂﬂ?ﬂ%'
T ETTI A o &t A g v R g2
(A) 4% increase / g
(B) No change / 1% qRadmr =i
/umdecmasci HH N (D) 5% decrease / Eh'l'-?f

I2. A man sells an article at 5% above its cost price. If
he had bought it at 5% less than what he had paid for

3

it and sold it at ¥2 less, he would have gained 10%,
The cost price of the article is

T e T 9 3 A9 we § 5%
IOE T Awar §1 AR IEY 37 QDo Sa
ST AT 3R 5% A 9T @lier e e
T O AT B, & 3 10% T T @Vl Ay
RN 7T &1 67

(A) 2400 (B) 2200

(C) 7300 (D) 2100
13. If 90 men can do a certain job in 16 days, working
- 12 hours/day, then the part of that work which ean be
completed by 70 men in 24 days, working 8
hours/day is 0 '
 AR90 et et 12 9 e s f
1 16 o1 3 qu & wwer £, Al 70 i zanry 8

. b 1 .

- e YifeT W1 % 24 &1 3 3% o7 a1 famar

T & ) 5
L Sonv e a0
/Zv/i ™) 1
O 3

4. 1f Gx—25):(2x+3¥)=5:6, then one of the

T3id ¥

valueofl——__ﬁ+:'f; s
\x =3y,

’ (Y3 Y
3x—29): Qx43y)=35:6, aY N2
af Bx-2y): Qx+3y) o I%_%_

L
&I Uah HI=T T g1
(A) 1 ®) 1
5 . 25
© s AD) 25
15, .
Ifsec 0 —tan @ = —=, the value of sec © - tan § is
B .

1
Hﬁscc{)—tane=:{3=ﬁ.ﬁ‘rscce-lgnaﬂﬁm§
) 4 2.

B « 3
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16. A dealer fixed the price of an article 40% above the
cost of production. While selling it he allows a

discount of 20% and makes a profit of Z 48. The cost
of production (in ¥) of the article is

U faddr 3 oF aw 1 FAd Scuied a9 o
40% 310 av fuifia 411 33 398 woa =g 20%
1 g 2ar & 3 3 48 FT AT Qe &1 36w
I Ieareet ARt (4H) fraer 22

(A) 320 (B) 360

(ge)’_ioo

17. AB and CD are two paralll:l chords of a circle of

(D) 420

lengths 10 em and 4 cm respectively. I the chords
are on the same side of the centre and the distance |

between them is 3 cm, then the diameter of the circle
is : 5

S Factsr g
(&) f21cm (B) /20 cm.
(&} 2.f21cm () j.fﬁcm.
BB.I a + b = 1 | find dhe valve of

a’ +b’ —abh<(a* -5’
afE a+ b dyd ad+bilab - b))
HIA J1rd ST

(A) 2 (B) —1

/m‘j‘o

19. If 64 buckets of water arc removed from a cubical
shaped water tank completely filled with water, 1/3
of the tank remains filled with water. The length of
cach side of the4ank is 1.2 m. Assuming that all
buckets are of the same measure, then the volume (in
litres) of water conltained by cach bucket is

AT G T WU Al & aea & Al 64
AT Wi et foar siar 2, ar 13 & aeh @
wm%afmﬂﬁgmﬁé;ﬁtamm
e & Wl afceal aoa g ) £ a vdw

(©) 1

&320: 10 cm 3ﬁ14cm-£rf-iaﬁaﬁqﬁnﬁr AB-
3R CD &Y wsias shar §) af 2= shar fg o
o a;snwaaﬂ'{ma:mqﬁa em g, Aoy |

4

T Ay A 9l T Inaae &hex 7) feger g
(A) 18 = (B) 15
{C) 16 (D) 12

20. Given that the ratio of altitudes of two triangles is 4 :
5, ratio of their areas is 3 : 2, The ratio of their
corresponding bases is

AT T 21 Ry w1 ok s 45 8, 3% A
T 3T 3 : zmmaaawma:rm
FATE?
(A)8:15 (B)8:5

(C}S:S 15;3,

21 Pipe A can fill an empty tadk in6 hours and pipe B
in § hours. If both the pipes are opened and after 2
hours pipe A is closed, howymuch time B will take 1o
fill the regaining tank?2

JHIST AT @il & ) 6 He 3 ST waar i
SIgq B S_Bfﬁ'H_THEHT?-‘I ﬂﬁa‘?ﬁmm
- WA ST AT 2 6§ AN WIS A g fear s, ar

A EF 3 3 B F e gaT aaan
; B % :
4 74 ! hours/ & (B) 2 ]—hmlrsf He
2 3
C b m o2 )
¢ )3 é hours/ g& & 2~ hours/ g
5

22. Pand Q together can do a job in 6 days. Q and & can
finish the same job in 60/7 days. P started the avark
and worked for 3 days. Q and R continued for 6
days. Then the difTerencg of days in which R and 1’
can complete the job is

P 3R Q AT v 73 71 6 RN &1 maa &
QIR RIM &I F1 607 RN A Frwwa I P A
&1 307 Forar 3 3 o=t v i fam) Q 3R,
6 Tl o 1 Y W R 3N P ZaR 37 @it &y

G FR= A v fal &7 3iae @
@10 ®) 8 '
i
(€) 12 (D) 10

{ 23- There is a wooden sphere of radius 6 f3cm. The

surface area of the largest possible cube cut out from
the sphere will be

Test Fo;m No. 1065870
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6 chmﬁwmmwwwém#
FIE I AT S A e THT U H G

arm?
A) 864 o2 (B) 646 f3 em?
© 464 3 2 (D) 462 cm? )E_’;_ﬂg
'-"
24. The value of )
(cosec a—sin a) (sec a — cos a) (tan a + cot a)
T AT 27 i o2 o ML—
7 b o }'yﬁ‘
_siaF
(A)2 1/;%;} 'o-.l/(’a.)—r’
Eehn
(©4 [ T Y

25. A manufacturer fixes his selling price at 33% over
the cost of production. If cost of production goes up
by 12% and manufacturer raises his selling price by,
10%, his percentage profit is '

s TSI Seateet T A 33% 0w 97 3idar

R spear fovaret ot R A Semest i, 12% L

& el & 3 i st RET sea 10% @
& &, A 38 AT i widaa faasi 27

A B
¢ }3!1 3% ()35 E%
8 9
(C 35%
) 30 B % @
8
Directions =
The following graph  shows production (in

thousands) of two types (P and Q) of vehicles by a
factory over the years 2000 to 2014. §tudy the graph
and answer five questions:

forar - ﬁmﬁmwﬁwmwﬂ
2009 |/ 2014 GF FEA ¥ & WH (P wE Q) ¥
IeiesT B (FIR #) A 74w 1w 5 seaww
Ffere 3itt =ivr R s gt weal @1 s A :

3 B,
ET 3004
215
2% 20l
Ha
2
1507 -
§% 12s]
7. sEwr
! X gl
E /
gl 29 i
T 2 200 201 201 2u
Years/od ——s
26.

In how many of the given years, was the production
of Type P vehicles of the company more than the
average production of this type vehicles in the given
years? A"

- R s Riser ﬁmﬂ‘rﬂasw P aTgl. @
Feuret U o aet 3T 5w ered & Al ¥ e

SENes Ao s ar \a
s © (8)2 A3

, o

(€5 _Bf3

27. The production of Type Q vehicles in 2010 was
approxinfately what pereent of Type P vehicles in
20147 i 3 .

2010 3 WY Q AT T IeweA 2014 F T P &
IearesT & fEdar afdei ar

(A) 75 _®y3as

(C) 45.5 (D) 60

28. The ratio of total production of Type P vehicles to
total production of Type Q vehicles over the years is

adl 3 ZRY P Al & P sewes IR 2T Q

m%immaﬁaﬂaqqﬁmé‘r
) 48 : 41 (B)8:5
(C)5:8 (D) 41 : 48

L]

29. The total production of Type P vehicles in the years
2009 and 2011 is what pereent of total production of
Type Q vehieles in 2010 and 20147 :

ag 2009 3fi¥ 2011 # ETE P agHT FT el SeesT
2010 3y 2014 A TET Q & Fef I 1 ke
aferra

(A) 75 (B) 69.25

Test Form No. 1065870

'_'I'J")ff

W




T

ot

30. Approximate pemenlage decrease in production of
Type Q vehicles from 2010.to 2011 is

a§ 2010 | 2011 & TRBY Q AT & IeanesT 7

(D) 81.25

HAREA: Thdey aiaea 40 1s?
,({5 7 (B) 10.1
(C) 143 (D) 12.5

31. The radii of two solid iron spheres are 1 cm and 6
cm respectively. A hollow sphere is made by melting

the two spheres. I the external radius of the hollow -

sphere is 9 cm, then its thickness (in cm) is

& B W & It S s w1 em 36
em §| AT MAHT Y TAFL UEH wEe Maw |

AT ST & Wﬁ:mﬁmaﬁm fasar 9
cm ﬁ,a\'gﬁ%ﬁn\tﬁ{cmﬁ’)maq

(A2 (B)OS:
et

3. Ifx=asin®—-bcos@,y=acos @+ bsin B, then
which of the following is true?

gfgx=asin®@-bcosB,y=acos@ + bsin 0 & ar

D) 1.5

ArfefRa g a sl aradre

A) 52 +a2 A _)34+y2=a1+b2
yoot

© 2 y? & @) 2442 =52 2

33. A plane divides a right circular cone into two parts
of equal volume. If the plane is parallel to the base,
then the ratio, in which the height of the cone is
divided, is

wmmaﬁﬁ?amﬂmmma
salt 31 FaenfSra &tar &1 af a0 3ru & |
& a‘r:w:ﬁﬁaﬁaﬁﬁma@mﬁﬁmﬁa

P*arwn‘i’
) lziﬁ (B) l:-’;ﬁ +1
© 1:32 -1 P14

R i 3(a2 +t:»2 +cz) =(a+b -t-c:)2 then the relation

between a, b and c 15
e 3(al+b? +c)=(a+b+c)’? Pita,hann
& &y I HEUR?

: 9
(A)aftb=c

(Byagb#c
M=b# ¢
35. The value of

(0.67 x0.67 x0.67)—(0.33x0.33 x0.33)
(0.67 x0.67) =(0.67 %0 33) = (0.33 x0.33)

a=b=c¢

A &
() 1.1 /mﬁsft ‘
(©) 11 ('l:)i-iaq

| 36. There is an rmns;amg of two digits, the digit
in the units’ p-iam is twice that in the tens® place and
if 2 be-subtracted from the sum of the digits, the
,;liﬁ‘ercnm is equal to 1/6 " of the number. The
nu ris '
A 3t fr v dE T & U a3
ZEIS & FUET AT 36 A I @ IR AR 3
Fient & 2T 9 & 2 vewn S, & 36T 36 de &
176 % €aT &) 98 e a9 572

24 (B) 26

(C) 25* (D) 23
47. A sum of money is paid back in two annual "
instalments of 217,640 each, allowing 5% compound

interest compounded anmnlly The sum borrowed
was

T AT afds aaﬂfa Y gT A 5% awaie
mﬁraﬁaﬁiﬁ.ﬁwﬂa‘rmﬁmﬁ‘aa‘iﬁgﬂt
Sirel &1 e o o afly Reaer o

(A) 132,200 #5)T32.800  *
]

(C) 232,400 (D) ¥32,000

| 38. Two blends of a commodity costing ¥35 and %40 per
kg respectively are mixed in the ratio 2 : 3 by
weight. If one—fifth of the mixture is sold at 146 per
kg and the remaining at the rate of 155 per kg, the
profit pereent is

Test Form No. 1065870



5 —

- Tl awg & wwan 135 3R 40 9y FRanm £
mﬁaﬁﬁﬁrﬂvﬂﬂmi}imz 3&
mﬁfi‘lﬁaﬁmm%mﬁmﬁwﬂm
e 6 3R Q9w 255 oy Rram fr g3 ¥ A

ST &, A 7 widreraar a2
(A) 50 (B) 40 -
(C) 20 (D) 30

39. 300 grams of sugar solution has 40% of sugar in it.

How much sugar should be added to make it 50% in
the solution?

3oonmd’1=ﬁa:u‘tar#4m=nﬁr%|saﬁﬁaaﬁr
mmmmmmaﬁwmm

Qe

Jﬁﬁnm (B) 10 gms/ansy o
T : .megaﬂ
(©) 80 gms/amar D) 40 gms/ama "

4.

ofA, then valucrofx 15, %

aﬁAmro%—Baﬂm%aB CH40%3%1':

-Aa—.‘::%%’ aTxiﬁrmﬁ?
(A) 800 17500

(C) 300 (D) 200

41. The diameter of each wheel of a car is 70 cm. If each
wheel rotates 408 times per minute, then the speed of

the car {in km/hr) is (Tak,c = %:]

UF R F 9AF ufgd &1 21| 70 an ) Al
Sl 9T uid e 400 A wwar 8. o s

%
e T — %>
(A) 5.28 (B) 528
(€) 52.8 () 0.528

42. A cylinder with base radius § em and height 2 em is
melted to form a cone of height 6 cm. The radius of
the cone will be

8 cm MR F=ar 3K 2 om 3 ard R{dzr T 6
mh%@ﬁ?ﬁﬂ#ﬁvmm%l i i

If 60% of A' = 30% of B, B 40% ofC and- C r%

y
;

T

Re=r o gwii? %
(A)4 eni” (B) 6 cm
(C) Scem /(t_ﬁ's/cm

43. If 5 cos B + 12 sin g = 13, 0° < 8 < 90° , then the
value of sin @ is

afe s cos @ + 12 sin@=13,0° <9 <90°, &Arsing

FT A Fa18?
@ 6 Jﬂ)l/_g
13 13
© s D), 12
13 i3

44, Ifa shopkeeper wants to pive: 20% discount on atoy, .

he has to sell it for 2300, If he scils it at 405, then
his gain percent is

K& uﬁwmrﬁﬁhwzu%ﬁwmﬂm

g g,a’f-mag ¥300 3 AAAT T39I AR @ 3 2405
%mmmmuﬁamﬁﬂwm
' (B) 5%

.
n<
8%
‘
-
:

©) 4% (D) 6%

45. Let x be the least number, which when *w:ded by 5,
6, 7 and & lcaves a remainder 3 in each case but
when divided by 9 leaves no remainder. The sum of
digits of x is

S W x SgeIaA dEr SRy S, 6, 73i’nsa
fanfoa &6 W v@F " ¥ 3 dwww
m%mgﬁf&uﬁammwﬂg
amaaﬁmmlxawmzﬁrzﬁww#
(A)21 ) 22

(€) 24 _(D)18

46. The interior angle of 2 regular polygon exceeds its
exterior angle by 108° . The number of sides of the
polygon is

mma@mmmmmmw
- AR | ageisr i st i dier a2
(A) 14 ®)12

o

M) 16

¢ Test Form No. 1065870 _,_-



47. In triangle ABC, DE || BC where D i isa pomt on AB
and E is a point on AC. DE divides the area of A
ABC into two equal parts. Then DB : AB is equal to

Ua {3351 ABC 31 DE || BC & 5@ D, AB qr v

fag & 3K E, AC wx uar g &1 DE 4 ABC &
SN &I & WA H9l #F Tnfaa swar 2. 8 DB
CAB fad e R

(A) J2:(f2-1) ®) 2:(2+1)
© (f2-1:42 ®) (f2+1):42
48. o G

1
Let x=———— and v =—, then the value of
JI3 - 11 x
3x* ~Sxy +3'y:is
J13+
HieA ﬁ‘ \Ed o b g b U - el 13 J—

Mo y=
B
JI‘—Sxy-{-'i)‘;E_mm?r_?._
(4) 1717 T By 1177
(©) 1771 ‘oot SNEP

B
3

49. ABCD is a cyclic quadrilatcral. AB and DC when
produced meet at P if PA = 8 e, PB= 6 cm, PC =
4 cm, then the length (in cm) of PD is

ABCD vai widisr wdlst 1AL 360 DC o agrs
HNE, AP T el &, R PA-Sem &, PR =
6oem & PE Sdem g Al PD &1 Fars (em ) Faei
&7

(A) 6 o

(C) 12 “ ©D)10

50- The unit digit in the product (246?)153 x(341)n.is
TR (2467)' 7 % (341) 2 Tfeve 3w war g
At (B)9

: )7

51. A and B can do a piece of work in 30 and 36 days
«  respectively. They began fhe work together: but A
leaves after some days and{B finished the remaining
work in 25 days. After howlmany days did A leave?

A 3T B us F1d @ T30 3T 36 BT 7w

)3

- -

m-;’r%: aaﬁmmm&mm%
@5 T e @ A T )3 2ar & i B oy

F 25 AT I g1 e & A:’r%aﬂﬁ:ra'ﬁm
BT 4m?

" (A)6 days / FoT (B) 11 days | .

(©) 10 days / o=t AD) 5 days / a7

- Three glasses of equal volume contains acid mixed
with water. The ratio of acid and water are 2 - 3,3:4
and 4 : S respectively. Comems of these glasses are
poured in a large vessel. The

in the large vessel is

(B)a11: 540

(C) 417 : 564 (u)aof 544

53. A boat moves downstream.at the rate of 1 km in 7
1 D -
- minutes and upstream at the rate of 5 km an hour.

Whai is the speed (in km/hour) of the boat in the still
water?

U stenr 7 %.ﬁ'l'iltﬁl km i 70y @ Free wag

A ST & 34 1 6 F S kep 7 1Y I 3D waw
Al e 1 TR et # Sl 7 Ay (kv #) figetr
a7

(s  ®ya

©, 1 (D)
2

54. The average age of 30 students of a class is 14 years
4 months. After admission of 5 new students in the
class the average becomes 13 years 9 months. The
youngest one of the five new students is 9 years 11
months old. The average age of the remaining 4 new

students is
U BT & 30 BT A T 37 14 @ 4 g
mmﬁsmmﬁﬁqﬂaraﬁyaﬁﬁaﬁmﬂ

3

1 | -
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=& -
-

-

" T T 81 e ¥ T o e o B
9 ad 11 #g & &1 AW 4 7w o0 A w3y |

et &7

(A) 11 years 2 months / 11 T 2 Frg
(B) 13 years 6 months / 13 a4 6 71g
(©) 10 years 4 months / 10 a9 4 ATE
(D) |2y¢m4m¥mthsnzaﬁ4mg

55. Ram sold two horses at the same price. In one he
gets a profit of 10% and in the other he gets a loss of
10%. Then Ram pets

m#:a’!ﬂ’l?wzﬁmawamumﬁm 10%
T e 3 SR G F 10% i @ gd ua
mmqam _ 3=

(A) 2% loss / g1fR (B) 1% pro‘ﬁt.f?-lm'

©) noiossorproﬁl!?{?.llﬁ.;ram ;

- i :-.
——’(ﬁ}/ql%]ossimﬁ’{ o [é

56. If tan A = n tan B and sin'A = m sin B-1fhe‘n 'IIIFB_ i

value of gos2 A is

?Iﬁlﬂnh-——nunBﬁ'{'ﬁinA—msinB,Eﬂ' mg:'-A

HHA A
(A) m2+1 /fn(m +1
e PLreT
(©) m?=1 (D) -]
?-_I-T n‘_—-_-l-

57 32 1 1
e ) e
PRaaT ) \pq

then the value of a + b, where p and q are different
positive primes, is

1 1
o6 2Ny
ﬂﬁ-:(E._‘LJ [P a ] b Aatba
Paq oo

I 1 § B p 3R q R e s
&

(C)0

®1 -
(0y-1
4

58. The value of

=

-

o

e 1
1+ —
: 1
3+-—1-
24—
&k
& A AT p
@ 1 ® 1
64 32
© L B
16 g

; b . P32
The simple interest-on a sum of monqpqs — of the
7

sum. If the number of ye;q's is nun‘lerlcal]y half the

rate percent per nnnum, fﬁen the rate percent per
annum is

-
-
T

muﬁmmmmnﬁﬂ — %u
-ﬁ%ﬁﬂﬁwwﬁra&mﬁwﬁam#
mmﬂm% a‘rnﬁra#arm%
5{:«)*5 B8

(€)

& (D) 4

L | -

60. Let x be the smallest number, which when added lﬂ '
2000 makes the resulting number divisible by 12, 16,

<"\ 18 and 21. The sum of the digits of x is

A & x v Sgean der ¢ S5 S 2000 F

72\ Siter s, a afyomedt w12, 16, 18 3 21 A

by TSR SN &1 x 3 il e @
A
(A)5 (B) 6
©4 /ﬂm/

61. If a man walks at the rate of 5 kivhour, he misses a 1&)
train by 7 minutes. However if he walks at the rare of
6 km/our, he reachies the station 5 minutes before .
the arrival of the train. The distance covered by him
to reach the station is :
e v sl 5 R ufer vgr v aifay & waan &,

ar sy T 7 T wge dhe el &1 afX aw 6

5 st sy der o oy A e &, a T &

1 3mm#5ﬁmmmmq§wmgl

| ReEwE s R R E g
(A) 4 km (B)"I km

9
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http://sscportal.in/community/study-kit/chsle
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(C) 6.25 km )6 km

62. The portion of a ditch 48 m long, 16.5 m wide and 4
m deep that can be filled with stones and earth
available during excavation of a tunnel, cylindrical
in shape, of diameter 4 m and length 56 m is

[

4l3 m e, 16.5 m =Y 30K 4 m Id a & ey
1T &1 4 m S 3R 56 m TF AR G Y
mﬂﬁmwmﬁﬂ#mmma?
{Rrrﬁ-'r Iﬂ_:%‘)

-2
A By«
(J%P frgP
©) 1 oy
EPr:iamr ZPamalTJT ¥

63. The value of !

ot 41° - cot 42° - got 43°+ cat 4495 guﬂ%“-mw
- cot 47° - cot48° - cot 49°

T A R g s
(A) f3 B 1
. 2
e )0

@)A_D is perpendicular to the intemal biscctor of «
ABC of A ABC. DE is drawn through D and parallel
16 BC to meet AC at E. If the length of AC is 12 cm,
then the length of AE (incm.) is

AD A ABC & £ ABC & yialls 2fawiss a1 da
&1 DE T D ¥ gia iR BC & waAiat s smar g |
faasd ACE 9T 9 w6 afg Ac 6 iiﬁl’é i2 cm

. AT AE & dand (cm ) frasir @i
(a)8 (B) 6
)3 (D)4

65. The perimeter of a thombus is 60 cm and one of its
diagonal- is 24 cm. The area (in sq.cm) of the
rhombus is

ngﬁsraﬂqﬂmwcm%ﬁi IFT U
a0t 24 om &) FovaeforT siawa (af 4.4 )
et gram?

N

10

-
-

(A) 108 j216

(C) 432 (D) 206

,66. A man starts from a place P and reaches the place Q
in 7 hours. He travels 1/4 ™ of the distance at 10
km/hour and the remaining distance ak 12 km/our.
The distance, in kilometre, , between P and Q is

wmwmvﬂmgﬁmgm
mq«vuﬁ#qgvm%mgm{ﬁmkm
ARTE 3 7 Far & 3R ATEd 12 kmofy w25t
& R 21 P MR Q A o, ety 3,
e 2 .\.,a‘#‘ :

(A0 )72

(D) %0

ﬁ"f. %60 kg of an alloy' A is mixed with 100 I.g of alloy B.”

I alloy A has lead and tin in the ratio 3 : 2 and alloy
B has tin and copper in the ratio 1 : 4, the amount of
tin in the new alloy is

60 kg fA#EN A @I 100 kg fsarg B & wmr
A fasar strar &1 afe P A 3 e i
o1 3+ 2 & stegemer ¥ € 3t Frmer B 3% ot 3t
AT 1 2 4 & 3egdrer 3 g, o 18 ey A P oy
I fedt a2

(A) 80 kg (B) 44 kg

(C) 24 kg

68. 62472 482 492 4102

is equal to / o aueay
\f7+4.ﬁ Ja+23

({L) 305

(D) 33 ke

(B) 355

330 (D) 366

~

69. Quadrilateral ABCD is circumseribed about a circle.

If the lengths of AB, BC, CD are 7 cm, 8.5 ¢m and
9.2 cm respectively, then the length (in em) of DA is

s geet 3 AR T AT ABCD awir g3 &1 7R
AB, BC, CD &1 dlar$ ®#e: 7 cm, 8.5 om 3§17 9.2
em &, & DA $r d@rd (em ) frast @i
) 162 ' )77
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©72 : (D) 10.7 E
70. 1f sin A + gn2 A = 1, then the value of @SIA +
cg.s"AiS
TR sin A+ gn?A =1, & coslA+ cos A FT
TR

) 2 (8)2
3

©, 1 ot
2

7I. A car covers four successive 7 km .distdnces at
speeds of 10 km/hour, 20 km/hour, 30 km/hour, 60

km/hour respectively. Irs averagc speed over this
distance is i

mmm—mﬁ:ﬁﬁquﬂﬂaﬁ
gsrmr 40 km/our, 20 kmvhour, 30 km/hour,. 60
: km]mrﬁ?@ﬂaﬂﬁmalwqﬁa?ﬁw

mannaa%w#
[A} 40 km/hour - - /rmur

(C) 30 kmv/hour -

(D) 60 km/hour
72, | :
I Py [ A =alalh? lhcn value of
(* oy i (v - Py
1 1 1 1
afe x=a+a'y=a'—a :,%- ar
2y DAy =y ) w A
(A) 12 )13
(C) 14 (D) 16

B%e=5-12=0 ad y-5+2=0,then
: value of (x" Zﬂf] (}E+"J-)

W - B-fl=0 M y-VF+2=0a
. {1 —"U«f_] ( +°J_}a?rﬂl?{a-'£l‘r61ﬂl‘7
,.._(A‘J"O/ (B)2

(C)3 (D)1

7. The average of fie consecutive positive integers is
n. If the next integers are also inclyded, the

P 2 1o

average of all these integers will

" 9T AT AT qUITET & 3R 0 B o
3T &) Yol 3 enfAer &t Rw nd, & 5o o
quiteR] & 3 w41 g

increase by 1 / 1 &g “JTUa)
(B) increase by 1.5/ 1.5 @g sImwam|
(©) remains the same / =T &Y Team|
(D) increase by 2/ 2 &g wrwIm|

75. A telegraph post is bent at a point above the ground
due to storm. Its top just touches the ground at a
_distance of 10 f3m from its foot and makes an

angle of 30° with the_horizontal, Then height (in
metres) of the telegraph postis

mémmmaﬂa‘hramlr*msiﬁ‘f%mw
g ¢ ST B S NS ST T A 10 fFm
ﬂ@wuﬁrﬁm&mm#aﬂnﬁﬁwmﬁ.
—jh'mwmaarmal T & @iy fr

ﬁﬁlg(ma?mﬁm‘ri{/ : t
(AY20 . —-- = A 30 ¢
(€25 (D) 24

76. Average of n numbers is a. The first number is
increased by 2, second one is increased by 4, the
third one is increased by 8 and so on. The average of
the new numbers is

nnmﬁaaraimaaﬁlqgﬁrmm St femr
ST &, gudy dwar 7 4 sﬁgﬁmm%aﬂuﬂm‘r
e A 8 Sivg @ siar @ 3T 2 wee i &y
HEABT 1 3 aQrar Siar &) 7 weanit & e
FaE?

A =-' . AL
: )a-l- 2_ - a+ ==
n : n
C) £.9 (D) el _
( —_— 1._ TR i,
o " n

77. A man purchases some oranges at the rate of 3 for
140 and the same quantity at 5 for T60. If he sells all
the oranges at the rate of 3’ for 250, find his gain or
loss percent (1o the nearest integer).

uzﬁarmfwmaﬁrat#mmuﬁam%aﬂ?
_mam#mm’u 6037 s iy ex A wiear
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&1 42 ag W §ay 50 743 frag ya=mard, ar
30 WS @ TR AN 3Er Fny & wiva

(FFrereasr qofie #1) wa Hifere
(A) 34% loss/grar (B) 32% profivamss
(©) 31% profivamey (D) 31% loss/ariey
L]
78. ) '
If a——==3% then the value of
a-3 -~
; 3 1
‘a—3 4 —
.( J (a_ﬁs.)_.' 15
s %3 |
b e _._="* aA=3) ——
aﬁ o -3 )Fh ( 3) @

b NS S el
dys: Ha %fyﬁ{/(
: AT TR
M i

RS ) ORI

79 The greatest number among }59-.4_"0" 530 and 6294

(3

3“’.11;‘“.53”3“? Gmﬂmaﬁﬁm‘ﬁ‘“ﬁ&
L (A) 3,1 )}/_{49

L (©) §W () 20

2

BO. I x? 497427 =xvivz+zx, then the value of
It 4+ 7yt 4524
Srlyz+7yzz_3 +3z

#fe

is Ao
N
ur."-lr}':dwz2 =xy+yz-tax,
3x+7 yi+5zt

S;’_\'! + _':']'Tz1 +3z°x
5

A FAT BI?

(B) -1 =

(©)2 ®)0

L]

*81. A, B and C can do a work separately in 16, 32 and
48 days respectively. They started the work together
but B leaving off 8 days and C six days before the
completion of the work. In what time is the work
finished? 4
A, B 3R C & F1 F HA71-3r09 FA0: 16, 32

T 48 AT 3 w0 wea &)1 W S 30y

! Wﬁaﬁﬁm&{ﬂsaﬁr%lmw&ﬂ?#qn
I

(A) 14 days/ R

(B) 12 days/ ey

(O days/ fe=1 (D) 10 d:-a}'s! s

82. The centroid of a 4 ABC is G. The area of 4 ABC is
60 cm 2. The area of A GBC is
AABC &1 HFTEH GE1 A ABC &y e‘imao*—mlaln
A GBC &7 13w e g {

() 30 a2 (B) 40 ‘e

’j(’n)/;ﬂ v&'mfi

83. A and B can do a given pieet of work in § days, B
and C canudo the sameswork in 12 days and A, B, C
complete it in 6 days. Number of days required to
fipish:the work by A and G is . P

VA Sy B 2 T Rl w5 @ 8 e A e w2,
3 BT 38 F07T A 12 R 3 T wad £ 3l A,
BYC 3306 a1 3 qar a0 W) 1 A 3R C ganr 3w

B ()5 ¥y T

S ] G FE A e ot adane
(A) 16 ~ (B) 12
A0 8 (D) 24

84. Three Science classes A, B and C take a Life Science
test. The average score of class A is §3. The average
score of class B is 76. The average score of class C is
85. The average score of class Aand B is 79 and
average score of class B and C is 81. Then the
average score of classes A, B and C is

e e i w20¢ A, B 31 C Shaa-fAam &

- oqfiEn ST €1 W A Foallea e 83 F e B &
Hrae 31 76 €1 $81 C & 3iad 3iw 85 § Fer A
3 B & aitera 30 79 3R Fuw B 3 C & e
3 81 1 F0 A, B 3R C & sirwa 3w e &2 ‘;,

(A) 81.5 (B) 80

"

5 (D) 81
85. The area of an isosceles trapeziun} is 176 cm 2and

the-height is 2/11" of the sum of it} parallel sides. I
the ratio of the length of the paralfel sides is 4 : 7,

F E iy B R T 819 ) 8 et gt 3k C

12

,

then the fength of adiagonal (in cm) is
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A
U WACIAAE WIC W ATET 176 cm 28 INC
3rs SEhT TR et & @t @ 211 & AR
WHIC 3T 6T Fars a1 i 4« 7§, &l faot
Y oS FATE? (cm )

Wi . el ‘
P y; L
© 24 ® 137

86. A right prism has a triangular base whose sides are
13 em, 20 cm and 21 cm. If the altitude of the prism
is 9 cm, then its volume is

\\
>

v ol frser w1 3mUR AenEr & e st
13 em, 20 em 3T 21 em &) AR Riser 77 o0 w5

9 cm &, AY 3UHT 3T R @em?
Wat DA AR D

; e
;(_Cl 1413 3 : .(D)|143 e’ &
87 In‘an office, 40% of the staff is female. 70% of the.
female stafT and 50% of the male staff are marricd.
The percentage of the unmarried st2{fin the office is
el Frifter 3% e a 40% AfgET £ 70%
Afgar werw i 50% N rerw RafRa ¥
Fratad ¥ sfaaiea tow meRea sard?
(A) 54 {B) 60

-

ACTd ﬁ/

D) 64

88. A and B are centres of two circles of radii 11 em and
6 em, respectively. PQ is a direct common tangent to
the circles. If AB = 13 cm, then length of PQ yill
be

A 3T B waer: 11 cm}ﬂ!’l&cmﬂﬁ?ﬂ_f'ﬂlﬁa
el & &% E1 PQ ded i 3wators sregedsy Yur
€1 A AB= 13 cm & @ PQ &' vard faraetr

grf? :
(A) 13 cm . ___,(p{cm -
(C) 8.5 cin D) 17 em

‘89, A sum of 27,930 is divided info 3 parts and given on
loan at 5% simple interest to A, B and C for 2,3¢nd
4 years respectively. If the amounts of all three fre
equal afier their_gespective periods of loan, then the

13

A received a loan of i

27,930 r 71 3 it 3 ReTifSrer i sl &3tz A,
B TS C &l #me: 2, 3 06 4 ast & fv 5% &
HIROT &A1 9T HOT & &9 3 & 5t 81 af st
A R 357%F T A WA ety ¥ 3¢ avac B,

|\ A
% ar A & fRder S &1 501 o am?
(A) 23,050 (B) ¥2,760
(C) 22,800 (D)X2,750

90. Two places P and Q are 162 km apart. A train leaves
P for Q and simultaneously another train leaves Q
for P. They meet at the end of 6 hours. If the former
train travels 8 kmhour faster than the other, then
speed of train from.Q s :

SR P 3 Q v gut & 162 km £ g0 R
e P Q i A sheRrne et ¥ st 3l werer
U e IS Q A P & AU yrRne e B 6w Sy
3 A A anfar e ¥ af el ardh e
3 ELA '8 knvhour AT T &, AT Q & Ty
arhr mErfr afa Fng? :

(A) (B)

1 1
9 —km/our 8§ — km/hour
z 2 2

(© )

10 EI‘-:nﬁ'hm,ur 12 Eltrn."'ht)ur
6 6

91. Base of a right pyramid is a square of side 10 cm. If
the height of the pyramid is 12 cm, then its total
surface area is

U S TOUTAS &1 304R 10 om 5o & a2t ) af
Ouis & FuiEg 12 em & a1 FF g a6

(A) 400 2 (B) 360 o2
(©) 260 2 _/{D)/«so em?

92. A sum of money placed at compound interest
doubles itself in 5 years. It will amount to cight times
itself at the same rate of interest in

e LRI Tgfe cars uT 5 adt ¥ gaeh @ s
&1 2T T FAA TR A e ash 3 8 @
SmeEr?

(A) 12 years/af (B) 10 years/ad
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93. in trapezium ABCD, AB || CD and AB = 2CD. Its
diagonals intersect at O. If the area of A AOB = 84
em?, then the area of A COD is equal 1o

T Waeia ABCD # AB || CD & 3T AB = 20D %/ |

3% {0l O W v gAY F1 Fied §1 afk A AOB
& ATBA 84 om? &, & A COD & A Trwd
aa E?

(A)26 2 (B) 72 m?
,«:éu a2 (D) 42 o2

94 gf 75&129 o 3m520=4,ihcn the value of tan p is{o

is acute)
AR 7sin 20+ 3cos?0=4, A tan O T AT FAwT &2
OFARTED .
W s ‘/mﬂ“
_ i B :
© ® 1. o )\
- '
- 95, = | 1 1 B
If at==b+-=c+= wherca#bEe? 0, then
b c - 4H \
the valuc of a°h3c?is
1}
R a+r<h +£_-=_'.93r.-'-_.:.if Gt a #b 7 c#0,
B g
A a’p’ A ARTR .
5 (B) -1
*
(C) abe (D) 0

|
96. If O 15 the circumcentre of a triangle ABC lying |
inside the triangle, then £ OBC + £ BAC is equal to -

Z O A3 ABC a7 aftde & S Fiager & 3iw

YSATE, dT « OBC + 2 BAC UET grem?
(A) 110° s ) 90°
(C) 120°

(D) 60°

€7. The H.C.F. and L.C.M. of two numbers are 2] and
84 respectively. If the ratio of the two numbers is | :
4, then the larger of the two numbers is

2m3ﬁﬂngmaﬂméa13ﬁtagm

1¢

v

muar-émr:-ziaﬂ:rs-q &1 afE & deatst &
HAIT 12 4 &, A & 6L 7 A &2 wwwr v
e '

(A) 48 (B) 108
M () 12

98. There would be a 10% loss, if rice is sold at T54 per
keg. To eamn a profit of 20%, the price of rice per kg
will be

4 avae Y 354 YRy Ran. 1 et Y amenar s, ar
10% iy gif gl Zﬂ%nmmmjaxﬁv
mﬁﬁmﬁwﬁmﬁm

(A) 265 ' B)Z70

99, lnA'ABC a‘ﬁAL 90% and AD 1| BC. If BD = 3
m 3@) =4 cm, then the length (in ¢m) of AD is

gmBC# 2 BAC=90° ¥R AD. 1 BC ¥ afz BD =

]

(C) 263

L 3'%em 3T CD = 4om &, & AD &Y (em W) Hars
Rrasfte?
(A) 3 (B) 3.5
> I ﬁ (D)6
100. The numerical values of the volume and the area of

the lateral surface of a right circular cone are equal.

If the height of the cone be h and radius be r, the
1

value of —+—is
h? gt

UF T e O & andia ges & maae #i

S AW & A& HIA GHE B aie g @

o ) .
Sshat s g @ .F+-§a=mma
(A) 3 1 .
1 ¢ 9
© 9 D) 1
1 3
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